kII%Oﬂ&M

g Al A

20244 Oll &t LBHSIH 2O0IAIE 22| AR
A 20AIE2A2IAIR
BH: 25Ae 29
tl: EStAIZ 2t (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
FZOUHAIE 22| ALR A 1,735,004 2,286,489 AB51,485
= 119,670
Al 1,615,334
ZoAld 2Z 1,551,703 2,100,758 AB49,055
= 119,670
Al 1,432,033
Z=StAl&2tel 1,551,703 2,100,758 AB49,055
= 119,670
Al 1,432,033
Zotl=s2 249 488,726 663,392 A174,666
101 eI t| 33,523 69,699 AN36,176
M IIZtH22 S8 33,523 69,699 AN36,176
O=stil=sl2 Fa 21FY 30,266
23 78,8802 x 1 »250 19,720
=5 78,8803 x 1«52 4,102
-2 78,8803+ 1H 123 947
gragas] 2,000& *1H x250 500
MEDBESY
120,520 x1H* 123 1,447
-Fuaesy 78,88021+124+302 *150% 3,550
OJRMH2RR 4N J|BSES 3,257
20 JlBRL3
29,024,000 x3.545% 1,029
“HIIQYEE J|ARE3E
1,029,000 *12.27% 127
=03 J|BRYE
29,024,000 *4.5% 1,307
-NESE J|AREZ2
29,024,000 +1.75% 508
AT JlBRgS
29,024,000 x0.982% 286
201 B2 AY| 398,008 382,368 15,640
01 ArR22ltl 119,553 101,193 18,360
Oget=2| 61,594
~2H0ILE2 HETY(3E/)
5,700,000 23] 11,400
-MDIE8E F(5021H)
90 60E 123 713
-MYDISE 7 (7521H)
1,4703+70&*12& 1,235
SIEAE ADRE FU(BEESEA 2)
300, 0002 * 123 *50% 1,800
~HAEE FU(0ISZY, A0, ZEH
s) 2,500& *50 0 * 122 *50% 750
-=ZA4A Z2RE MEH] 60,0002 * 122 720




SM 20AIZZEIAMR
M BotNE 28
&elr 23tAld el EEREE
SA - ZE - B2(30) - HRAS of v e HIDE2
-ROIZHIEAR (32, SEo=ZR2l)
365,000+ 122 4,380
-2 HOIAABI(CCTY) ZHIBY 442
8,027 & 72t =128 6,936
-SEollsde el EotAIAE(CCTV) Z2HIES
= 16,5002 «40H = 12 792
~Ha| YU +4+8
25,0002 +6CH* 12 1,800
~SIEA Ui LT A4
13,6653 3201+ 123 5,248
AU | PR =2 (32)
600,000 * 122 7,200
ABAIA HUOHEZICH £42 (3R
2,000,000& %12 2,000
MAAE FIIEA =28
300,000& %12 300
“TADEA H201Y 2olEE
900,000 *12] 900
52 MIAIM HUEA 442
4,200,000 *12] 4,200
-S| 2l =+=2(32)
200,000 «2CH* 122 4,800
-S| HIIEA =2(32)
120,000& »2LH*12] 240
_X~|j|/\|/\-|‘:' X‘Ij|34}\|>
1,050,000& %12 1,050
—SHY E2F AU AEX WA =2
70,0002 <201 A% 1201 2 1,680
-2t =32 (TAS, SHS) Y|
450,000 62 2,700
-=et0l=sl2 SAE 10t =4l
150, 000 *2LCH*52]*50% 750
O=3ttil=3la AxE FIIAHEE =52
5,000,000& 22 10,000
O=2zleal2 A=Z FIIZA
6,700,000 * 14 6,700
O=2zt=ala AHAZRZ dUSIIE FE
400,000 12 400
O=3t0il=al2 JIHEH 4583 dAl
8,000,000 * 14 8,000
O2stol=al2(XIGHEAE) AUSIIE =5
g 500,000& %12 500
O=2zt=alat HAIS deted)| 34 4,546
S HSdway 180,000 = 18CH 3,240
—AHES 145,000 +7TH 1,015
-g2es7l 145,500 <204 291
O=2zlsalat SHS )| 34 1,371
S HSdway 180,000 *6CH 1,080




HIAIE 22| AFR A
tAE 22

3

3|

[}
[
=
[

K
X XH -

o™

of
i’
oF
uJ

FAIE 2t

=
[

=aak

-

7,280

no
Klo
E
E=)
K2
<
Emﬁ o
uiked
RIS
L L 83 38 3 S S S8 < S o) S8 18 L 8 8 S & 8 f 8 3] S ] S8 3 I
- - ©o=K ® ®» S ® ®»~N K S S5 S5 S = S = 5 8§ e = -
— — [aN] (=} (=) 3 O Lo — < o (<o) [
= = ISP S S
3
<
S
55 S 5 5 0o ol T o ™ W ™ W ™ W W @ e ™ ™
Y % PY Y P 95 ™ Ny Y X N d o8 o = ¢ S8 5Ty
o ol = 80 N w o®w oH ® 5 T Y T o T BE @
w 88 2§ 7 & 3 3 ¥ B S%8 g 88 3 # 3 8 5 88 8
L le ¢ S £ g8 8 w¥ D =g gs98 s 8 g g 8Bug g g8 g
=Y o 8 8 % @ S 8 Y g - -
OF. w > nuy - AT D X _JDQU, _:3, = > > - - O
. g < o TH R N s © 8mus
Mu % m o M~ - sy —
ol S — K0 = m ol
< = mnJ © =
It ur=—" o o
=% M___ ro of —~
~ = o ~ 2
= 5 3 < Gl
ol oF ) =
Y o i i} o}
F ~ . ol =l 7
o) 4D Woom W <h i
0 100 e = = = oJ
ol 2 S o # 0
ﬂﬁ Yl 0] oy T_O 0. D
RO o0 Mo 0K Ko <
| Ho | i
. O O N
X o
I+




2A:

SUAIE22IAIR

3 ZSAE 29
tl: EStAIZ 2t (EEEE))
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
eI EEI=E]
300,000 * 122 3,600
OdzHl 4,236
-HIA2 A AZHI(FR)
1,640 %400 £ »1CH 656
~2ESEIABHI(ZR)
1,640 %120 £ 104 =12 2,362
-EENAE 0EI] AZHI(FIER)
1, 7403 *100L*4=] 696
—SUH TS ARHI(HLR)
1,740 x150L+23] 522
OAlI2EHIF I 105,540
-2d= 2 JIEE =X
68,000,000 *14] 68,000
-SHE otd&2|| 500,000,000 1% 5,000
-3l Kot 10t M= (SH3) A
5,800 +650 M 23] 7,540
-2l JHA d2=I] N2 =Y
10,000,000 » 14 10,000
-3l S JDILHI(RU, =29, 88) &
Al el 15,000,000 * 14 15,000
202 04| 3,600 5,400 1,800
01 SLHo4HI 3,600 5,400 A1,800
Oetzd dI183 & 0lAlel &4 220
200,000& x3EH *42] 2,400
O&Al HR=E HAIEO 22 0ol
200,000 x32+23] 1,200
206 M=l 14,095 27,095 213,000
01 MZHl 14,095 27,09% A13,000
OTANY 2885 U (XS, A0I0E S)
10,000,000 141 %50% 5,000
Otz 30 288 7U(R
g X 2 1038)
10,000,000 * 141 %50% 5,000
OSHUAE M4FH ABRY
60,5002 *30H 1,815
Ozl 2(JAE, 3Y) g A=T]
ASH S Y 35,0002 8 M 280
OJIAL &I S 228 7Y
4,000,000 * 141 %50% 2,000
301 EtE N = 8,000 12,000 24,000
14 IIEt2 8 8,000 12,000 4,000
O2ztua HA=g
100,000& #4JH £++202] 8,000
401 Al HIZ R 0HbI 30,000 141,000 A111,000
01 AlZ8| 30,000 141,000 A111,000




2A:

SUAIE22IAIR

HE: 2L 2
&elr 23tAld el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=sli=aa =4 S Y+3A
30,000,000& »14] 30,000
405 KHoHFSHI 1,500 25,830 N24,330
01 ML ESFSHI 1,500 25,830 A\24,330
O=3ttil=al2 M&2l 7Y
500,000 *3CH 1,500
ANRZStHSdEH 24 792,722 1,009,861 A217,139
201 2= 728,922 657,444 71,478
01 At22telt] 191,868 185,190 36,678
Oggt=3H| 184,476
-HIE XIS H(750) 7
1,470 x100& %123 #50% 882
Y SEAE A2E PY(HEESSEX
2l) 200,000 122 +50% 1,200
-dE FAEE 2UOISZd 2)
236,0002 x 122 x50% 1,416
~HIE SEA HPE M)
60,0003 * 12 720
M 201 8YR
220,000& 128 2,640
~HIE S20| BRUE 242
150,000 *3CH* 123 5,400
-HiEe 201 IIEA =8
150,000& *3IH 2+ 12] 450
CHIE AHSEE| YO A4
900,000& * 128 10,800
-HE JINEE S2EH =
5,000,000& 12} 5,000
—HIE OtAAE ZIIBAL ==
400,000 *12] 400
~HIE] AAIS HUHHAG 242
2,000,000& %12 2,000
-HIE SHEYR & IS AE
8,500& *1, 18944 10,107
-dlE AOHEEIIEH] EIIBAL =2
1,700,0002 %12 1,700
—-dIEe HAESH 75,000,000 * 14! 75,000
~MIE| ZA4S HE H
16,000,000 * 12l 16,000
—HE M= 3,500,000 32 10,500
—HIE e IR EY
700,000 42| 2,800
~HIES SR I LT aaR
13,6653 x 1404 2% 123 2,296
MIE ®AD) A0 242
25,0002 <8 A+ 122 2,400
-HIE ZOFAIAE(CCTY) +===Z(280H)
320,000 * 122 3,840




2A:

SOAIE 22| At A

Zu: 2L 2Y
Chel: 2stAlg el EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-MlE JIHEHI(238) 853
10,000,000& %13 10,000
Mg CHOIBHEAIE RIOH=EE
1,000,000 *23| 2,000
M A2 ) EH =5
6,000,000& 23] 12,000
HeHES AUZIIE =X
600,000& *13] 600
~ME SHE Tot: ==H|
150, 0002 *3IH 2= %53 *50% 1,125
-HE SHE WEsZ (A% M|, RU o
HE) 50,000& %103 500
HIE] BOE YoH(AS)
450,000 63| 2,700
O=&tl 7,3%
Mg S AR HE S20048]
8,000&x7H 11U+ 12& 7,392
02 2224l 537,054 502,254 34,800
o233 £ HMAl 447,060
M #0123 16,000,000+ 12& 192,000
Mg e OtAZ 6,000,000& *12& 72,000
~HIE BN Y QY AFZRE
115,000& x 12& 1,380
-diE A%teE 22 2,000,000& *12& 24,000
-SONSHH Aotk 23
13,000,000+ 12& 156,000
—CiE Lt LERZ
300& #1504 *12& 540
~HiE S| RERZ
4,000&x 1524 % 12& 720
“MIE JtAZoibHA HABER
100,000 *13] 100
~dIE Agotd S3lH| 200,000& *13] 200
-dIE &O|etMate| g3l
120,000 12l 120
Od =zl 9H
-HIE HIAZXD| H2H(ZR)
1,640 x500L* 13 820
-HIE =D H2HI(FER)
1,740 *100L*12] 174
OAEEHIR XU 89,000
-dIE A2 SX22I81(13,387m")
20,000,000 14| 20,000
—dIE JIHEX =sA2el8l(238)
20,000,000 14! 20,000
MIE BOIE 20 £ - SBLH 9K
2lbl 5,000,000 *20H A 10,000




2A:

S0AIE2t2IALR

M BotNE 28
Chel: 2stAlg el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
~HE 39F orEzlY
1,000,000, 000& * 1% 10,000
-MdE Xot=Z(283) A4t
4,000,000& *12] 4,000
-y dete ZH MZHI(Z0HH Z8)
15,000,000 * 12l 15,000
Mg XD 2H wA
50,0002 *200H 10,000
202 04dl 800 900 A100
01 2L AL 800 900 A100
OSSIANEAE U BAIE 2 20
b 200, 00024 %2 23] 800
206 TH=H 8,000 10,000 A2,000
01 =l 8,000 10,000 £2,000
OUEf 2882 7Y(RHT 8E S)
8,000,000 * 14 8,000
401 Al HIZ S 0HbI 55,000 255,000 A.200,000
01 Al&H| 55,000 255,000 200,000
Odle A% =41J] 0ld
20,000,000 *14! 20,000
OHIE| IZOIE SIR20) IR &
35,000,000 *14! 35,000
geR=253 206,172 199,450 6,722
= 119,670
Al 86,502
201 Ler23 | 206,172 199,450 6.722
= 119,670
Al 86,502
01 AtR2t2|HI 6,722 0 6,722
OYYRZ 2HBY MY 24T 2EE
M (840 IAH 2IERH)
2,000,000 *42] %50% 4,000
Oged== 2388 QA ===
68,0403 10 *42] 2,722
03 A= EHI 199,450 199,450 0
Ogd== 282 A 83 Z27)
g 32488 =4 199,450,000 *14] 199,450
= 119,670
Al 79,780
2attil=22 J1EsA 64,083 121,511 A57,428
201 et 3| 61,083 111,000 AN\49,917
01 AtR2tc|Hl 16,083 16,000 83
OJl2ls 822 MA(+, XAH CIZ
) 2,000,000 1221 %50% 12,000
OJ8sd deXd & QP s
68,0403 * 102 » 122 «50% 4,083




2A:

SOAIE 22| At A

M BotNE 28
=?Hel: EstAld e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 45,000 95,000 50,000
OJ183d =8 90,000, 0003 * 141 %50% 45,000
301 EtE2 N = 3,000 5,000 /2,000
11 #AIAMHIXIZ S 3,000 5,000 A2,000
OJIEBo 28 21 NHQA(AH) 22|
S 6,000,000 * 141 %50% 3,000
HY2AIHI(20 AL Z2IAIRA) 183,301 185,731 N2,430
QIARHHI(ZU A2t AFRA) 57,647 57,647 0
QIA2IH| (20 Al 22| AFRA) 57,647 57,647 0
101 @124H| 57,647 57,647 0
01 &2 57,647 57,647 0
Oz=z22=¢ 57,647
-Fe2FE 88,9602 x18H 36 57,647
JI2HI (S0 AL e AtRA) 125,654 128,084 A2,430
JI2ZHI(20AZ AR ) 125,654 128,084 A2,430
201 2= 74,774 76,844 A2,070
01 AtR2t2lt] 74,774 76,844 2,070
Oget=ZH| 13,454
-JIEAMFESHI 100,000 20 2,000
-3l 2 dIH CIXIE =S80 A8
190,000 x2CH* 122 4,560
-3t & HIE] SAD| SA2A2H(EH S)
330,000 *2CH+*32] 1,980
-3zt 2 HIH ZElH, BA SRl
237,000 x2CH*32|*20H A 2,844
-SAREA P (32 HIE)
23,0002 x 152 A 123 «50% 2,070
O=g=g 61,320
-2, =N (a2 HEH)
0003 +2H +365 2460, 0003 x2H x 120! 58,200
-2 E(SEo=2del)
60,0003 x 1 »52& 3,120
202 04| 48,000 48,000
01 2LHA b 48,000 48,000
OZ20UAIZ2CIAIRA IR 2K
Bl 20,0002 «20& %102 122 48,000
203 HR=&H] 2,880 3,240 A360
M EA2ER=A 2,880 3,240 A360
O20AIE &AL A
300,000 122 +80% 2,880




